Practical 2
Addition, inverse, transpose and multiplication operations.

a<-matrix(c(2,3,-2,1,2,2),3,2)
print(a)
b<-matrix(c(1,4,-2,1,2,1),3,2)
print(b)
1.addition matrix
 c<-a+b
print(c)
2.inverse matrix
e<-matrix(c(2,1,6,1,3,4,6,4,-2),3,3)
print(e)
ai<-solve(e)
print(ai)
3.transpose matrix
at<-(a)
print(at)
att<-t(at)
print(att)
4.multiplication matrix
d<-a*b
print(d)

practical 3
mean, median, mode, quartile, range, inter quartile range, histogram.
1.mean
x<-c(12,7,3,4,2,18,2,54,-21,8,-5)
mean<-mean(x)
print(mean)
2. median
x<-c(12,7,3,4,2,18,2,54,-21,8,-5)
median<-median(x)
print(median)
3.mode
getmode<-function(v){
uniqv<-unique(v)
uniqv[which.max(tabulate(match(v,uniqv)))]
}
v<-c(2,1,2,3,1,2,3,4,1,5,5,3,2,3)
result<-getmode(v)
print(result)
4. quartile
nuclear<-c(7,20,16,6,58,9,20,50,23,33,8,10,15,16,104)
quantile(nuclear)
5. range and histogram
x<-c(1,2.3,2,3,4,8,12,43,-4,-1)
r<-range(x)
print(r)
diff(r)
hist(r)
6.inter-quartile range
x<-c(12,19,21,24,26,29,33,35,36)
IQR(x)

Practical 4
Import data from excel/.csv file and perform the function.
Practical 5 
From .csv file perform standard deviation, variance.

Practical 7
Import data from .csv file and perform hypothetical testing.
xbar=9900
mu0=10000
sigma=120
n=30
z=(xbar-mu0)/(sigma/sqrt(n))
z
alpha=.05
t.alpha=qt(1-alpha,df=n-1)
t.alpha

practical 9
perform the binomial and normal distribution on the data.
x<-seq(0,50,by=1)
y<-dbinom(x,50,0.5)
plot(x,y)

practical 10
perform linear regression using r.
x<-c(151,174,138,186,128,136,179,163,152,131)
y<-c(63,81,56,91,47,57,76,72,62,48)
relation<-lm(y~x)
plot(y,x,col="blue" , main="Height & Weight Regression",
     abline(lm(x~y)), cex=1.3,pch=16,xlab="Weight in kg",ylab="Height in cm")
practical 11
perform the correlation using r tool.
year=c(2000,2001,2002,2003,2004)
rate=c(9.34,8.50,7.62,6.93,6.60)
plot(year,rate)
cor(year,rate)

